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import java.util. Scanner;
public class Othel 005 {
static byte yx = 1; //0%&% 1:0 2:@
static boolean place, place2, sirokuro; //boolean®#HA{E : Talse
public static void main(String[] args) {
Scanner in = new Scanner (System. in);
byte[][] ishi = new byte[8][8];
ishi[3]1[3]=ishi[4][4]=1;
ishi[3]1[4]=ishi[4][3]=2;
(iin‘? end=0; //RT 754
0
byte siro=0; //EW&YT—LKRT 755
byte kuro=0; //&¥&YT —LKT 757
V0A.2.0.5-21%.8.0.¢
System. out. printIn("kDF & + (yx==1) 270" : "@"));

System. out. print (" x:”);
for (int m=0 ; m<8 ; m++) {
System.out.print(" “ + (m+1) + 7 7);
System. out. print ("¥ny ”);
for(int m=0 ; m<8 ; m++) {
System. out. print (" )

System. out. printin(;
for (int n=0 ; n<8 ; n++){
System. out. print (n+1) ;
for(int m=0 ; m<8 ; m++) {
if(ishi[n][m]==1){
System. out. print (" | Q) ;
siro++;
}else if(ishi[n][m]l==2) {
System. out. print (" | @”);
kuro++;
lelsef
System.out. print (" | 7);

System.out.print (" | ¥n ”);
for(int m=0 ; m<8 ; m++) {
System. out. print (" | _")

System. out. printin(” | ”);

]

if(siro==0 || kuro==0 || (siro+kuro==64)) {
winner (siro, kuro);
break;

]
/A AR D Fdehk
int x,vy;
do{
System. out. print ("x:”);
X = in. nextInt(-1;
System. out. print "y 9T T) ")
y = in.nextInt()-1; UlXYlebﬁiﬂJ
Jwhile(x<0 || x>8 || y<0 || y>8 || ((x!=8 && y!=8) && lshl[y][x]' =0)) ;

if(x==8 || y=8){ //#&T3 757

| end = 8; break;

172, 2.9.¢:358 ¢ ¢ ¢

byte self = yx;

place = false; //aLtink, —ER-obEITHE

place2 = false;

getlshi (ishi, x,v, self, true);

if(place2 == false) { //F DI RATIFEEIBRNLGE
for(int m=0 ; m<8 ; m+){ //&~<X %check!

for (int n=0 ; n<8 ; n++) {
if(ishilml[n]!=0){ //BHFEIZ/E\\I5EFDHcheck!
continue;

getlshi (ishi,n,m self, false)

if(place) [ //BINAENE CMIHHES. BILAENENTRIC
WﬁmoMpHMM(ﬁh%Eﬁiﬁ Uii'":
break;
}
if(place) {
break;
! - R
if(place 1= true) { //BRAAFBEHAE ZIZHHEWESEL
ishilyl[x] = yx;
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yx = (yx==1) ? (byte)2 : (byte)1;
@ NHE@® */ // System. out.printin("main®yx:” + yx):
QW A® >}k/ // System.out.printIn("maindself:” + self);
]

}while (end<8) ;

static void winner (byte siro, byte kuro) {
System.out. printIn("O : “ + siro+ " vs.” + “@ :” + kuro);
if(siro>kuro) {
System. out. print("O WIN!");
Jelse if(siro<kuro) {
System.out.print("@ WIN!”);
lelsel
System.out. print ("I =2 1 ),

}
static void getlshi (byte[][] ishi, int x, int y, byte self, boolean check2) {
get (ishi,x,y, self,-1, 1, check2); //£TF

get (ishi,x,y, self, -1, -1, check?); //£Lt
get (ishi,x,y, self, 1, 1, check2); //BET
get (ishi, x,y, self, 1, -1, check?); //&Lt
get (ishi, x,y, self,0, -1, check2); //Lt
get (ishi, x,y, self,0, 1, check?2); //T
get (ishi, x,y, self, -1, 0, check2); //%&
get (ishi, x,y, self, 1, 0, check2); /]G

if (check? && sirokuro) [ //#E B -1 5
yx = (yx==1) ? (byte)2 : (byte)1;
sirokuro = false;
.Eﬁ}éﬁﬁ. */ // System. out.printin("get ) Mself:” + self + “ yx:” + yx);

}
static void get(byte[][] ishi, int x, int y, byte self, int a, int b, boolean check2) {
int x1 = x+a;
int y1 = y+b;
@#XH@® */ // Systemout.printin("x:” +(x1+1-a) + ” y:” +(yl+1-b)+ "IZE (L") ;
if(x1>=0 && y1>=0 && x1<8 && y1<8) {
byte teki = (self——1) ? (byte)2 : (byte)1;
if (ishily1]1[x1] == teki) { //?éiEtBM%L/’U’L [ER D R % check!

OERA® *{ // System out. printin("x:” +(x1+1) + “ y:” +(yl+1)+ "HBEEDE") ;
x1+=a;
y1+=b;

whlle(X1> 0 && y1>=0 && x1<8 && y1<8) { .
|f(|§h|[K1][x1] = 0) { //Ef)fﬁc'fﬂli%ﬁf;b
reak;
lelse if(ishily1][x1] != teki) {
place=true; //BREDFEIZEDFNEN HiLIEL
%/ // System.out.printin("x:” +(x1+1) + 7 y:” +(yl+1)+ "TlEIH 5") ;
x/ // System.out.printin(“ishily1][x1]:” +ish|[y1+1][x1+1])
| break;

x1+=a;
y1+=b;

]
if(cht1eck2 8& place) {  //BxE OB BIRAETLL
x1-=a;
y1—=b;
while(ishi[y11[x1] == teki){ //BiE%=EiRT
ishi[yl]l[x1] = self;
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x1—=a;

| y1-=b;

ishilyl[x] = yx; //5@E 357k

sirokuro = true; //GERRT HEHNEIMN

place2=true;

| place=false; [/BR L& ERYT W EMEDget OFHETERLTLED
]
}
}
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